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1. (20%) Assume Mr. A cares about his consumption (¢ ) and leisure f
(1-1) where we measure labor (/) as the fraction of the day that Mr. A //}\‘"
works, the remainder is leisure. Suppose Mr. A’s preferences are 2 .
given by: u(c,/) = P -1"P whereo < B<1.Mr. A’s technology is Z-?

.
y=/()=41". Whatare Mr. A’s optimal choices of consumption (¢ ) E:;j
and labor (7)? | e

- (30%) Assume Mr. A cares about his consumption (¢, ) in each period.

- (20%) Consider Mr. A with a utility function over consumption C

His preferences look like: U(C),€50C50) = u(c,) + Bu(e,) + ﬁiu(cs )+.... Mr.

A gets exogenous income ¥, ineach period. This income isin

terms of consumption goods. At times, Mr. A can buy or sell

consumption goods ¢, ata price of P perunit. He is able to save

money by buying bonds that bear interest. Use b, to denote the

number of dollars of bonds that Mr. A buys at period: » for which it
will collect principal and interest in period t + 1 at the rate of interest

onthe bonds, ®. Assume Mr. A lives for two time periods, =12,
His problem is to choose consumption ¢, and ¢, and first-period

bond holding .

(a) (10%) Please write out Mr. A’s utility maximization problem.
(b)(10%) Determine the Euler equation.
(¢) (10%) Determine the equilibrium interest rate, R, if we assume

u(c,) =Inc,.

and effort L of the form: UC,L)=2JC-L. Mr. A’ income takes
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the form: y(L) = wz , given the wage rate, w. Assume that there is a
simple flat tax, given the tax rate, ., so the tax policy is
H(Lit)=7y(L).

(a) (10%) Does this systém exhibit a Laffer curve?

(b)(10%) If the government introduces a lump-sum tax of amount 7,

does this system exhibit a Laffer curve?

4. (30%) Assume that the government has a utility function over

unemployment rate (u ) and inflation rate (7) of V(u,x)given by:
V(u,m)=~¢u’ —z* whereg>0. Assume that there is a Phillipé curve

of the form: w=u"+y(z* - #) where u'is the “natural rate” of

unemployment, z* is the expected inflation rate,
(2) (10%) Assume that inflationary expectations are fixed at #*. Find

the optimal inflation rate choice of the govemment, 7o ($).
(b) (10%) For fixed inflationary expectations, find the corresponding

choice of unemployment rate, u,(¢) .

¢) (10%) Now assume that the private sector is aware of the
p

government’s maximization problem and knows ¢ perfectly,

Find the inflation rate #, at which expectations are met. What is

the associated unemployment rate, u,?




